2 s '(03) 6 Tan (D) T cas (oos (B))

.97 = Cos™ CCr'S ('r_g))

8 o (von(-%)) g 10

tan (1ow (P +T))
cen ' (Ton ()

Y

it cawn 0. sy (s ()

~\ Ami-  DEFIWWVED
=

—
—

b

-3

It )= stanvx+|

Tﬁw"(%):*rnu" (Tﬁ/v/-()
CD Y: S TArK 4|

-1 fH-1Y —
@ K:STﬁw7+l TAv (le) 7
@ X-1= s*rﬂwf e
X-l _ s xeny @ Plir) = TAW (?)
S T s
< rany
[0 - T >, ! /(__\) -
Ry K= Sy KHAT =TT s X
A x= — >~
& cay! X= r\l
u L S cos! X —cos X= 178D
° .
Coy? XK= 15 el X = T K= Co&(w)

X
41\ -\ _ -1
Cos (cps" K] =5 ”‘C"—qd"* £ 779 X@
K: \Eai CO.}"K = ‘g

Cod (cos™ &) = s (U%)



